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To 1llustrate these concepts, suppose we test a hypothesis and find that it
commits r = 12 errors on a sample of n = 40 randomly drawn test examples.
Then an unbiased estimate for errorp(h) is given by errors(h) = r/n = 0.3.
The variance in this estimate arises completely from the variance in r, because
n is a constant. Because r is Binomially distributed, its variance is given by
Equation (5.7) as np(1 — p). Unfortunately p is unknown, but we can substitute
our estimate r/n for p. This yields an estimated variance in r of 40 - 0.3(1 —
0.3) = 8.4, or a corresponding standard deviation of V84 ~ 2.9, This implies
that the standard deviation in errors(h) = r/n is approximately 2.9/40 = .07. To
summarize, errorg(h) in this case is observed to be 0.30, with a standard deviation
of approximately 0.07. (See Exercise 5.1.)
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k-Fold Cross-Validation

il 3 oo, o3dl 5l eolaiwl ol SO

1. Partition the available data D, into k disjoint subsets T,, T, ...,
T, of equal size, where this size is at least 30.
2. Forifrom1tok, do
use T, for the test set, and the remaining data for training set S;
. S;<={Dy - T}
* ha <= LA(S)
* hg <= L(S))
« & <=errorg(hy)-error(hg)
3. Return the value avg(o), where
avg(d) = 1/k Zizy i 6
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Confidence level N

0% 95% 98% 99%

v=2 292 430 696 992
v=>3 202 257 336 4.03
v=10 1.81 223 276 3.17
v=20 172 209 253 234
v=30 170 204 246 275
v=120 166 198 236 262
v=o00 164 196 233 258

TABLE 5.6

Values of 1y, for two-sided confidence intervals.

As v — o0, ty,, approaches zy.
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Paired Test

Slllie acgoze 3l ooliiul b S0l 4o d g0 cas 5108
g o 0wl PAINE teSt sgs bl SLLSS

Dbkl Jolsd a4 jmie Ygene JSlisles] iz azes
L by e oz 0 0ol cdalice OS5 00,5 0 (6 Fdi

oolaiwl b laas,8 8y s> o cinleas 8 o DS

&HIAS 130 Kl Wigd o s Jglaie glaosly acgeza

Dgds o 3§ 00ld degests g0 s S

39
s dly codllol;T olKiils S 80 gre 558 1 sl Oeisle (6 580L 1 w0



	Slide 1
	Slide 2
	Slide 3: روشهای آماری
	Slide 4: کمی داده‌های آموزشی
	Slide 5: مشکل کمی داده
	Slide 6
	Slide 7
	Slide 8
	Slide 9: خطای نمونه و خطای واقعی
	Slide 10: مثال
	Slide 11
	Slide 12: مثال
	Slide 13: فاصله اطمینان برای فرضیه‌های با مقادیر گسسته
	Slide 14: مقدمه‌ای بر تئوری نمونه‌برداری
	Slide 15: تخمین خطا
	Slide 16: توزیع دوجمله‌ای
	Slide 17: مثال
	Slide 18: احتمال دوجمله‌ای
	Slide 19: مثال
	Slide 20: خطای نمونه‌برداری
	Slide 21: میانگین
	Slide 22: واریانس
	Slide 23: تخمین‌زننده، بایاس و واریانس
	Slide 24: بایاس تخمین
	Slide 25: انحراف معیار تخمین‌زننده
	Slide 26: مثال از واریانس
	Slide 27: فاصله اطمینان
	Slide 28: تقریب با توزیع نرمال
	Slide 29: حدود یکطرفه و دوطرفه
	Slide 30: اختلاف خطای فرضیه‌ها
	Slide 31: تخمین‌زننده
	Slide 32: انحراف معیارتخمین‌زننده
	Slide 33: مقایسه الگوریتم‌های یادگیری
	Slide 34: مقایسه الگوریتم‌های یادگیری
	Slide 35: مشکل کمی داده
	Slide 36: k-Fold Cross-Validation
	Slide 37: فاصله اطمینان
	Slide 38: فاصله اطمینان
	Slide 39: Paired Test

